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. Which mechanor

Section A. Multiple choice questions. Answer all the questions (30 Marks)

. Which statement about plasma membrane is the correct:

a. Peripheral proteins provide structural channels that permits diffusion through the
membrane.

b. Integral proteins are also called extrinsic membrane proteins
The plasma membrane has two phospholipid bilayers

d. the hydrophobic ends of the plasma membrane t in the water-poor interior of

the membrane

a. Transport through the cell membrane c
b. Transport through the cell me

c. All of the above
d. None of the above

Simple diffusion:

eptors are being stimulated in an athlete cooling down after
practice doing passive and active stretches.

a. Spindle fibers

b. Golgi tendons

c. Meissner’s corpuscle

d. Pacinian corpuscle

. Which statement is incorrect about pinocytosis.

a. The receptors generally are concentrated in small pits on the outer surface of the

cell membrane, called coated pits.



b. The edges of the membrane around the points of attachment evaginate outward
within a fraction of a second to surround the entire particle.
c. vesicle separates from the cell membrane leaving phagosome in the cell interior
d. bandd
7. which cations are dominant in the extracellular compartments.
a. Calcium
b. Potassium
c. Magnesium

d. Phosphate

1. A typical neuron has a resting membrane potential of:
a. -70MV
b. 70MV
c. -55V
d. None of the above
8. Which process does not util

Facilitated diffusion

ISE

Vesicular

10.

b. reticulocyte

c. polychromatophil erythroblasts
d. erythropoietin

11. A megaloblastic cell is caused by what deficiency?
a. Vitamin Be.

b. Vitamin B».

c. Vitamin B;.

o

Iron



12. What do prokaryotes lack
a. Nucleus
b. Cell membrane
c. Nuclear membrane
d. AandC
13. Erythropoietin is produced in the
a. Proerythroblasts
b. Spleen

c. Kidney
d. Bone marrow

14. Which of the following is not a compone i elial system.

a. Kidney
b. Liver
c. Skin

d. Bone marrow
15. What is the role of liver in the'teti i em
a. Store iron
b.

e reticuloendothelial system

rrow for erythropoiesis

confirmation by a physician

a. excess production of bilirubin
b. increased uptake of bilirubin into hepatic cells
c. disturbed secretion of conjugated bilirubin into the bile canaliculi,
d. intrahepatic or extrahepatic bile duct obstruction
18. Which occurs last in the clotting process.
a. Conversion of fibrinogen to fibrin

b. Conversion of prothrombin to thrombin



C.

d.

Secretion of thromboxane A2

Vasoconstriction

19. Which of the following is not a type of secondary active transport

a.
b.
C.

d.

Uniporter
Symporter
Antiporter

Co-transporter

20. Which of the following statements is not correct about the functional classification of

peripheral nervous system

a.

21. the nervous tissue outside t

Autonomic NS is an Involuntary motor control of & cardiac muscles and

glands

the sensory division is categori

sympathetic nervous sy:

a. central nervous system
b.
c.
d. interneurons
e. An involuntary response by the nervous system to a stimulus is a
f. A) Synapse B) Reflex
g. C) Motor response
h. D) Smooth muscle
22. An involun ponse by the nervous system to a stimulus is:
a. Synapse
b. Reflex
c. Proprioception
d. Nociception

23. Repolarization and depolarization are as a result of:

a.
b.
C.

d.

Ions moving across the cell membrane
Ligands binding with receptors
Inside of the cell becomes more positively charged

All of the above

24. For a muscle contraction to occur:



Chemical synapses have a one-way conduction system
b. Acetyl choline is one of the common neurotransmitters in electrical synapses.
c. Neurotransmitters have to be permitted by ligand gated channels to go through the
membrane and into the cell
d. All of the above.
25. During gaseous exchange, oxygen permeates the cell membrane via
a. Aquaporins

b. Protein carriers

c. Protein channels
d. Simple diffusion
26. The said oxygen in number 25:
a. Binds to iron in the heme
b. Forms oxyhemoglobin
c. Islow in highland regio
d. All of the above
27. The muscle:

28. \ e muscle fiber) that lies between two

c. Zband
d. Sarcomere
29. Which of the following is false?

a. Actin is a thin filament

b. Myosin is a thick filament
c. Troponin promotes muscle contraction

d. sarcolemma Is the Intracellular Fluid Between Myofibrils.
30. The second heart sound is caused by

a. closure of aortic and pulmonary valves



b. ventricular filling
c. closure of mitral and tricuspid valves
d. opening of the mitral and tricuspid valves

Section B. Short answer questions. Answer all the questions (20 marks)

30. How does oxygen and carbon dioxide get across the cell membrane? (1 mark)

31. That only certain molecules may enter or exit the cell, whereas other molecules are
not permitted to cross the cell membrane defines which property of the cell? (1 mark)

32. State and define four types of facilitated diffusion. (

33. State three factors affecting the speed of simple diffusion.

34. State one sensory role for each of the foll
Meissner’s corpuscle and Pacinian

35. Define diapedesis. (1 mark)

36. Where are Kupffer cells fo

37. State and define four types o

38. Illustrate the plasma membrane

Section C. Long

39. A. llustrate and o
b.

40. A ved in the reticuloendothelial system. (5 marks)
b. Outl

41. A. Outline




